




Session 13



time zone



universal time



Iran is in GMT + 3.30 time zone.



It means when it is 1 o’clock in Greenwich, it is 4.30 in Iran.

So in Iran, the time is 3 hours 30 minutes ahead of GMT.





Find Edmonton.
What time zone is it in?

-7.30



Edmonton is in -7.30 time zone.
It means (GMT – 7 hours 30 minutes).

In Edmonton, the time is 7 hours 30 minutes behind the GMT.

When it is 1 in Greenwich, what time is it in Edmonton? 

- 7 hours 30 min



Find New Your.
What time zone is it in?

-5



New York is in -5 time zone.
It means (GMT – 5 hours).

In New York, the time is 5 hours behind GMT.

When it is 1 in Greenwich, what time is it in New York? 

- 5 hours







GMT



Marco lives in New York.
Jack lives in Morocco. 

Morocco is 3 ahead of New York.
When Marco sleeps at  10 p.m. in New York,

What time is it in Morocco?

10 + 3 = 1 a.m.


